EANRAROESIERT —

ZN—ABISH—F

20135F6A5H (K) 4mPi5I2H

m JLy>aCh (FREBE) Y IR2EFBE \ (x2] 2 \ (i — | & (5) 1000 &
[A&4] 1 7% :1,500,000 @ 23 :300,000 ~ 33#&:225,000H  43#&:150,000 @ .~ 5 & :75,000
B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— AR :03. - . — REERE (dad)
il 7RU=—r5 # 2 | EiE i A L me
R:T7NTSY BvALTat— 2 m B
) o9 — s o2 | BREBIESE 1:03.8 2-1 40.0| — 3 444 | BEE] (ALiEE)
2|56 |X¥VIRZAZT 54.0 (1/2) —) |BEEZ
X THANAN B:A<Ty IR eSS
2 42 | BFHEh 1:03.9 8-8 38.8| — 6 530 | K& (dtimE)
3|8 11| MU TIN5 — 54.0 76) oy | mERE
L:T77NTFT BIXS=T)1)— pil=cbae]
;= 4t 2 | BIEREE 1:03.9 2-1 40.1| — 2 486 | A)IIEH (AtimE)
N REEELE 540 7€) O | 75 ki
R:xT— bE—1 B:X&JANF 75 Fis
— IR T4 :04. - . — EfE# (deimE)
W v nvs # 2 | BT e | e ) - | o | e EEE Gma
L:TA—TAFAF =Y B4/ KFHS
B HERE .04 = . — AL (dtimE)
617]9 w25 %F 2 i% (11014/23) 1-1 40.7 1 (4E3) u.h_,:.
R:FALTFAT BSATAHTT wA 'R
S o2 | AWREZ 1:04.8 2-1 4.0 — 7 450 | EHREZ (dtiEE)
7B 0| ¥V FRFT 54.0 2 1/2) (o) |TFEELF
ARG TTR B ALY E— AR
/ y e : - - ERT (i)
N . L EERRY o2 | B 1(.;1/;4.)0 1111 | 38.6 ) (1336) EAT G
L:7HA4FALNK BN/ FZvT o HH K
L RT 4 2 | E4ARER 1:05.0 1-11 38.6| — 8 384 | BiEE (AtimE)
ol5|5 ¥ rTO- 54.0 (7 6) oy | @ xe-k7r-n
R h—AYILNT— B:RE—KI7O AE—KTT—L4
N =2 9N :05. — . - Kot (AtimE)
108112 FJ)ke—0— o2 A 1(025)4 9-10 40.1 5 (413) G yi |
R:27)—>k—A— B:FTUIIXFa> TRERS
27 fo2 | AvHEE 1:05.7 77 |40.8| — | 9 | 406 |BEHAME (ALimE)
11 7 54.0 (11/2) (=) | Mt
R:TA—F4FAF =YL B:FIU—T—ILFK 1—ZrNTyp—L
j a2 it 2 | BETE 1:06.7 5-6 21| — 12 | 426 |BOBE (Gt&d)
12/ 7 |10 9:_\79:‘\17[/_'7 54.0 (5) () KFET
Lv—ATO— BT AT74FvF v KiE R
® I —F—EBIERL
13—7—
23—7F—
33—7+— |9,(2,3,6),10,1,7,11,12,8,(4,5)
A== — (2,3,6,9),1,10,7,11,8,12, (4,5)
[ RN
B OB 1 800H 714K 1-6 750M e & 1-5 3,640M &R 1-6-11 13,520M
7 B 1 200M 1-11 1,040 | | B = 1-6 3,530M | | 3EE 1-6-11 95,890
6 350M9 6-11 1,270 B H 1-6 5,020
1" 570M
ABICOVWTRHDTERERRODLDE, THERLE,




